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Fig A7.1. Recurring conflicts. Monthly frequency. Starting after 1 year and 1 month. X-axis: increasing losses in loyalty per on the x-axis, loyalty is reduced by 0, 10, 20, 40, 80% respectively. In a predictable fishing environement with repeated interventions. Data based on 2000 repetitions. 
As the loyalty is more and more severly damaged by recurring conflicts, the number of coops that persist in decreasing (Fig. A7.1, Panel A). The reason is that the loyalty is too low and the coops dissolve because of low loyalty (Fig. A7.1, Panel B). The average reliability of fishers in each surviving coop is higher and higher as the severity of the conflict increases to compensate for the reduced loyalty (Fig. A7.1, Panel C ).
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Fig A7.2. Large recurring conflict. Yearly frequency. Starting after 2 years and 1 month. X-axis: increasing losses in loyalty per on the x-axis, loyalty is reduced by 0, 20, 40, 60 and 80% respectively. In a predictable fishing environement with repeated interventions. Data based on 2000 repetitions. 
When conflict occur more rarely, and only start after 2 years an 1 month, coops are better prepared (in that they have build up more loyalty), and even though the number of coops surviving decreases with the severity of the conflict, 3 coops remain when 80% of the loyalty is removed (Fig A7.2 Panel A). The reason for coops dissolving is primarely lack of loyalty (Fig A7.2 Panel B). The average reliability of fishers in each surviving coop is higher and higher as the severity of the conflict increases to compensate for the reduced loyalty (Fig. A7.2, Panel C ).
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Fig A7.3 Initial capital on the x-axis increasing from 0 to 10000 units for coop members. In a predictable fishing environement with no interventions. Data based on 500 repetitions.
As the initial capital increases the number of surviving coops increase (Fig A7.3 Panel A). At a break point between 100 and 500 units of capital the reason for coops for dissolving is only loyalty (Fig A7.3 Panel B). The average reliability of fishers in each surviving coop is the same because the initial loyalty is the same and the impact of reliability remains the same independend of capital given (Fig A7.3 Panel C) 
[image: ]
Fig A7.4. Increased initial loyalty for each coop member. In a predictable fishing environement with no interventions. Data based on 500 repetitions. 
As the initial loyalty increases the number of surviving coops increase (Fig A7.4 Panel A). At a break point between 160 and 320 units of loyalty the only reason for coops for dissolving is lack of capital (Fig A7.4 Panel B). The average reliability of fishers in each surviving coop is lower and lower as the initial loyalty increases, because the coop loyalty can cover for the lower reliability of some fishers (Fig A7.4 Panel C) 
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